Parts List .«..x:

Epap Uk

Model: JC203DX IN—YV ART—K 524425
JC203DXL



HaTRODITERIZDINT

1. BRSO TEX DB

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (E R R DR TR E SRS,

MamlEwend THRILMIESGSR ] Z23HERATIZEL,
AERRIFEBLEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASARMR—=U|Z Fig. XXSRBERRLTHYET . COXXKIFAFTAM—D
ELORBLEZSERLFET .

o 0 & 0N

B R
7, /\o_:)

JC203DX

L N v 1~2
JC203DXL

200 U . S 3~4
JC203DX/JC203DXL

3. IUDY (DT —R, DUDE . AAI) 5~ 8
4. T (JAAILRBTE) eeeressneeesessssesessssssssnssene 9~ 10
5. IOV (Fv¥ILA, IT7V)—F. BHEIVY) .. 11~ 12

(R =11 TR oSS 13 ~ 14






1. JC203DX
x &



A:JC203DX, B:JC203DXL

*
RHES (maEs 2B A‘MB i mx
1-1 364681 | JC203DX 1
1-2 225304 | TUNTIVY 1
1-3 226544 | h'4hUvbs 1
1-4 215532 | Hwv44=%") 1
1-5 054691 | WYhT9 9347 1 6 791
1-6 089738 | 6 hHik Lk 1 M5X15
1-7 215418 | nUNMN)YERTS 9357 1 8 794
1-8 092561 | 6 A% Lk (+)SW 6 M5X25
1-9 225835 | ¥ ¥h—-RH34T 1 10 ~ 15 744
1-10 225897 | 6 hYE Wb (H)W 1 M6X8
1-11 092550 | 6 h%F Wb (+)SW 1 M5X25-7T
1-12 225891 | NEJRR A 1
1-13 225892 | NE/WAB 1
1-14 225893 | HIN RN RYEFYR 1 M8 t4')
1-15 225896 | 6 hYE Wb (+) 1 M5X10
1-16 220549 | F1943—) 1
1-17 239599 | #—L7°L—} 1 JC203DX
1-18 235776 | nUNIL A ThA 1 E4)
1-19 235777 | nUNIL B ThA 1 £
1-20 235778 | MJA'LIN—434T (16) 1
1-21 560182 | 3A°)L 1 19 - 74
1-22 235748 | AAYMLIAY 1 810L I/0 75.5
1-23 220533 | hahh N U 9347 1
1-24 222821 | Y AIVAN-I34T 1 25791
1-25 092561 | 6 h%f ILF (+)SW 2 M5X25
1-26 224624 | FY7)-9 1
1-27 231654 | n\)3—4 1 ECO




2. JC203DXL
x &



A:JC203DX, B:JC203DXL

*
RHES (maEs 2B A‘MB i mx
2-1 364682 | JC203DXL 1
2-2 225304 | TUNVY 1
2-3 226544 | h'AhUTkA 1
2-4 211736 | kv494=%") B 1
2-5 211737 | N'UN 2
2-6 054691 | WhT5 9347 1 7794
2-7 089738 | 6 hYik Lk 1 M5X15
2-8 235783 | MJA'LIN—434T (24) 1
2-9 236111 | 3A7)L 1 17 - 7439
2-10 235751 | AAYMLI4Y 1 365L1/0 73.5
-11 213548 | ALy —+F1-7" 1 3k’ 10 200L
-12 225835 | ¥ Yh—R9347 1 13 ~ 18 744
2-13 225897 | 6 hH Lk (+)W 1 M6X8
2-14 092550 | 6 hHi Ik (+)SW 1 M5X25-7T
2-15 225891 | NEJIK'A A 1
2-16 225892 | NEJFAB 1
2-17 225893 | #IN Y I RYETYR 1 M8 4
2-18 225896 | 6 hYF Ik (+) 1 M5X10
2-19 220549 | F1947—) 1
2-20 239604 | *—L7°L—} 1 JC203DXL
2-21 231654 | n\)3—4 1 ECO
2-22 222059 | K IVUN=7 NIN VST 1 23,24 741
2-23 126993 | 6 h9F+ b 4 M5
2-24 222142 | T3V (W)W 4 M5X28
2-25 220533 | hahh WU h34T 1
2-26 222821 | V' AYAVAN =934T 1 27 794
2-27 092561 | 6 h%& Wb (+)SW 2 M5X25
2-28 224624 | F97)-9 1




3. JC203DX, JC203DXL T >y
DS —R, DYUE . aAdI)L

65 —amlAz X[t

39 _~
. 60
LAV
63
LAUN L




A:JC203DX, B:JC203DXL

*

RHES (maEs 2B A‘MB i mx
3-1 875069 | IVYY 1 EE201/28
3-1 875070 | 1YYV 1 EE201/29
3-2 289667 | YU¥ 1 1
3-3 289643 | h'ArYb 1 1 T0.5
3-4 267290 | 241 2 2 M5X20
3-5 272744 | 4yy1L—4 1 1
3-6 267049 | B"AHYb 1 1
3-7 269826 | TAI%Y (+)WSW 2 2 M5X25WSW
3-8 289657 | ¥737tV77) 1 1
3-9 266402 | 241 2 2 M5X55
3-10 273262 | h'Arvb 1 1
3-11 276868 | 7U4 —hn'— 1 1
3-12 269827 | +AI%Y (+)WSW 1 1 M5X16
3- 278022 | b7 hiN=au77)—h 1 1
3-1 563151 | 241 1 1 M6X15
3-15 261878 | b 1 1
3-16 280144 | AYEVRY (+) 1 1 4X16
3-17 273674 | 30902 1 1
3-18 280488 | ATYUY 2 2 PPL 6001
3-19 261492 | A4NY—=I 1 1 ISCD12287
3-20 261386 | #4ILY—) 1 1 ISCD12227
3-21 055185 | C h'4hAD 1 1 H28
3-22 261612 | 6 97 FY+HK Wb WSW 3 3 M5X30
3-23 289671 | E'AbY 1 1
3-24 261158 | E'AMNUY 1 1
3-25 261036 | E'ARUEY 1 1
3-26 288520 | =—FMILATYUY 1 1 8E-KV8X11X11.8
3-27 261576 | ¥—=997° 2 2
3-28 267193 | H)399% 703077 -+ 1 1
3-29 269168 | Y79F7tV77) 1 1 30,31 794
3-30 269169 | 9739YFv1 2 2
3-31 269173 | A7y 1 1
3-32 269647 | 979FH Wb 2 2
3-33 269175 | 7YY 2 2 6.1X15X1.6
3-34 261777 | 9I-7"79v% 2 2
3-35 286527 | 77VAN-TtY7) C 1 36 ~ 38 794
3-35 286528 | 77UAN-TtU7") C 1 36 ~ 38 794
3-36 280366 | 77VAN— 1 YN L—
3-36 280506 | 77vhin— 1
3-37 280314 | 979FK 743077 —b 1 1
3-38 014210 | C H'4hA7 1 1 S10
3-39 269831 | FA"1%Y (+)WSW 4 4 M5X20WSW
3-40 269991 | 4V3y 1 1
3-41 280477 | A4Ya 1 1 M5X28WSW
3-42 269423 | YhHFyb 1 1 M5




3. JC203DX, JC203DXL T >y
DS —R, DYUE . aAdI)L

65 —amlAz X[t

39 _~
. 60
LAV
63
LAUN L




A:JC203DX, B:JC203DXL

*
RHES (maEs 2B A‘MB i mx
3-43 282403 | AYEVRY (+) 1 1 M4X14
3-44 274927 | I5#bT7EVTT) 1 1 45 ~ 53 791
3-45 283397 | O0-4 1 1
3-46 283165 | 49°=953va{NTEU7) 1 1 47 ~ 53 791
3-47 283267 | 14l 1 1
3-48 283268 | 1-FT7tU7) 1 1 49 ~ 51 794
3-49 283269 | 1-I 1 1
3-50 283178 | 739 %%v7° 1 1
3-51 272805 | 7V4 1 1
3-52 283271 | ¥¥v7° 1 1
3-53 283272 | ¥1-7° 1 1
3-54 261076 | nUT"Y%— 1 1
3-55 261417 | 474 1 2959 1 1 M8
3-56 280381 | AA—# 2 2
3-57 261256 | 6 97 TY%HK Wb WSW 2 2 M4X25
3-58 286739 | AN=973Y 1 1 cJeY
3-59 283648 | AMYT ALYFIVT )b 1
3-60 269722 | Y)-F 1 165 N4 HCBH
3-61 282880 | Y-k 1
3-62 280670 | #'OAvb 1
3-63 264588 | 437 1
3-64 269705 | A7) 1 1 UV LS AVEY)
3-65 274191 | A7) 1 1 A9AUFIIA




4.JC203DX, JC203DXL T PV

JaAJ)LRA—A




A:JC203DX, B:JC203DXL

*

RHES (maEs 2B A‘MB i mx
41 282404 | VA WARE-4THEUT) 1 1 2~ 11794
4-2 282405 | R4—47+1v77) 1 1 3~ 10794
4-3 283411 | - 1 1
4-4 283412 | hLh7°L—+ 1 1
4-5 280930 | #'UnN'-R7vy’ 1 1
4-6 280931 | AWAFNAT YUY 1 1
4-7 267213 | £YrRYY2 1 1
4-8 280932 | O-7'7tV7"Y) 1 1 9,10 74 L4
4-9 280933 | R4—40-7° 1 1
4-10 267219 | R4-4)7" 1 1
4-11 280934 | 7°-Y7tv7Y 1 1
4-12 280489 | FAI%Y (H)WSW 2 2 M4X20
4-13 269833 | TAIRY (H)WSW 1 1 M4X16WSW
4-14 278402 | Ja4LIAN 1 1 JC203DX

-10 -




LTSTDL,

FyILE, ITT70)—F. BEEVY

5.JC203DX, JC203DXL T >V



A:JC203DX, B:JC203DXL

*

RHES (maEs 2B A‘MB i mx
5-1 289885 | ¥¥7°LATHEU7Y) 1 1 2~ 15794
5-2 274472 | KUTRTA 1 1
5-3 262991 | N=V'K'F( 1 1
5-4 262992 | KY7hin - 1 1
5-5 261874 | 7°94% 1 1
5-6 283905 | #4¥77L4 1 1
5-7 262993 | H"AHYb 1 1
5-8 262994 | 4¥77L 1 1
5-9 282576 | h"Arvb 1 1
5-10 285030 | ¥'IYh 1 1

-11 261871 | O vy’ 1 1
-12 261876 | YU’ 1 1
5-13 261658 | A4A)L 1 1
5-14 264682 | 241 2 2
5-15 262996 | 241 4 4
5-16 261864 | h"Arvb 1 1
5-17 264691 | O vy’ 1 1
5-18 277926 | 9)-F+7€v7Y 1 1 19 ~ 21 754
5-19 277554 | H)—Fhin'— 1 1
5-20 266433 | F—A7tY7) 1 1
5-21 264695 | ILAUb 1 1
5-22 269834 | TAI%Y" (+)WSW 2 2 M5X60WSW
5-23 273515 | V971077 1 1 24 ~ 34 74914
5-24 273516 | 71-I4v% 1 1
5-25 275306 | AU9%%97T7E7Y) 1 1 26 791
5-26 274875 | NYEY 1 1
5-27 261696 | 7Y)—4")347 1 1
5-28 265752 | 2V)3AYNATTEYTY 1 1 29 ~ 34794
5-29 264031 | N47H34T 1 1 30 ~ 32 794
5-30 261115 | 5’049 1 1
5-31 261690 | 2YYIINA47’ 1 1 160L
5-32 263038 | A—n'70-N'47° 1 1
5-33 264653 | 7447tV 77) 1 1
5-34 261117 | 497" 1 1
5-35 269828 | TAIRY (HW 2 2 M5X16W
5-36 281208 | FA IRy (HW 1 1 M5X16W #9%
5-37 281007 | 37" 1 1 FA-9 4 A4

-12 -




6. JC203DX, JC203DXL
/&

-13-



A:JC203DX, B:JC203DXL

2
BHES BRES 22 A‘MB i e
6-1 221460 | H3' A% 1 1
6-2 220534 | hnhn— 1 1
6-3 210418 | IVERVIAANT 1 1
6-4 219431 | 6 hYR IANT 1 1 ZAYNN 3
6-5 022865 | YADYFANT 1 1 8X10
6-6 239600 | MJ7YhM1tY A3 1 1 JC203DX/DXL

-14 -



22 LU EThH
B EFRHERED
Ay FE—- bt s2—: EE 0120-898-114
ZFIFIEHRY: AN9:00~PN5:00(+. B.#1H %% <)

Printed in japan 2017-01.J

EHENEETY



